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QUESTION 1

Click the Exhibit button.

Communicate with JATP server...

error: [Error] Failed to communicate with JATP server when retrieving
registration status.

Please make sure you are able to connect to JATP server. If this issue still
remains, please contact JTAC for help.

When attempting to enroll an SRX Series device to JATP, you receive the error shown in the exhibit. What is the cause
of the error?

A. The fxpO0 IP address is not routable

B. The SRX Series device certificate does not match the JATP certificate

C. The SRX Series device does not have an IP address assigned to the interface that accesses JATP
D. A firewall is blocking HTTPS on fxp0

Correct Answer: C

Reference: https://kb.juniper.net/InfoCenter/index? page=contentandid=KB33979andcat=JATP_SERIESandactp=LIST

QUESTION 2

In which two ways are tenant systems different from logical systems? (Choose two.)

A. Tenant systems have higher scalability than logical systems

B. Tenant systems have less scalability than logical systems

C. Tenant systems have fewer routing features than logical systems

D. Tenant systems have more routing features than logical systems

Correct Answer: AC

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/tenant-

systemsoverview.html#:~:text=Although%20similar%20to%20logical%20systems,administrative%20domain % 20for%
20security%20services

QUESTION 3

An administrator wants to implement persistent NAT for an internal resource so that external hosts are able to initiate
communications to the resource, with the internal resource having previously sent packets to the external hosts.

Which configuration setting is used to accomplish this goal?
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A. persistent-nat permit any-remote-host
B. persistent-nat permit target-host-port
C. address-persistent

D. persistent-nat permit target-host

Correct Answer: A

QUESTION 4

You are asked to configure an IPsec VPN between two SRX Series devices that allows for processing of
CoS on the intermediate routers.

What will satisfy this requirement?

A. route-based VPN

B. OpenVPN

C. remote access VPN

D. policy-based VPN

Correct Answer: A

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/secuirty-cos-basedipsec-vpns.html

QUESTION 5

Exhibit.
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Referring to the exhibit, which two statements are true? (Choose two.)

A. The ¢c-1 TSYS has a reservation for the security flow resource.

B. The c-1 TSYS can use security flow resources up to the system maximum.
C. The ¢-1 TSYS cannot use any security flow resources.

D. The c-1 TSYS has no reservation for the security flow resource.
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Correct Answer: CD

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/security-profile-logical-system.html

QUESTION 6

Which two additional configuration actions are necessary for the third-party feed shown in the exhibit to work properly?
(Choose two.)

A. You must create a dynamic address entry with the IP filter category and the ipfilter_office365 value.
B. You must create a dynamic address entry with the CandC category and the cc_offic365 value.

C. You must apply the dynamic address entry in a security policy.

D. You must apply the dynamic address entry in a security intelligence policy.

Correct Answer: AC

QUESTION 7

You have a remote access VPN where the remote users are using the NCP client. The remote users can access the
internal corporate resources as intended; however, traffic that is destined to all other Internet sites is going through the
remote access VPN. You want to ensure that only traffic that is destined to the internal corporate resources use the
remote access VPN.

Which two actions should you take to accomplish this task? (Choose two.)

A. Enable the split tunneling feature within the VPN configuration on the SRX Series device

B. Enable IKEv2 within the VPN configuration on the SRX Series device

C. Configure the necessary traffic selectors within the VPN configuration on the SRX Series device

D. Configure split tunneling on the NCP profile on the remote client

Correct Answer: CD

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/security-remote-accessvpns-with-ncp-
exclusive-remote-access-client.html

QUESTION 8

Which three type of peer devices are supported for Cos-Based IPsec VPN?
A. High-end SRX Series device

B. cSRX

C. vSRX
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D. Branch-end SRX Series devics

Correct Answer: ACD

QUESTION 9

Your organization has multiple Active Directory domain to control user access. You must ensure that security polices
are passing traffic based upon the user\\'s access rights. What would you use to assist your SRX series devices to
accomplish this task?

A. JIMS

B. Junos Space

C.JSA

D. JATP Appliance

Correct Answer: A

https://www.juniper.net/documentation/en_US/junos/topics/topic-map/security-user-auth-configurejims.html

QUESTION 10

Click the Exhibit button.

user@srx> show security flow session
Session ID: 358216, Policy name: default-policy-logical-system-00/2, Timeout:
1788, Valid

In: 10.10.10.1/63261 --> 203.0.113.10/443;tcp, Conn Tag: 0x0, If: ge-0/0/1.0,
Pkts: 632, Bytes: 45341,

out: 203.0.113.10/443 --> 172.25.11.4/21740;tcp, Conn Tag: 0x0, If: ge-
0/0/0.0, Pkts: 662, Bytes: 79325,

Referring to the exhibit, which statement is true?
A. Source NAT with PAT is occurring

B. Destination NAT is occurring

C. Static NAT without PAT is occurring

D. Source NAT without PAT is occurring

Correct Answer: A

QUESTION 11

Your organization has multiple Active Directory domains to control user access. You must ensure that security policies
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are passing traffic based upon the users\\' access rights.
What would you use to assist your SRX Series devices to accomplish this task?
A. JATP Appliance
B. JIMS
C.JSA
D. Junos Space
Correct Answer: B

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/security-user-authintergrated-user-
firewall-overview.html

QUESTION 12

Click the Exhibit button.

userlfhost# show system security-profile
production-profile {
zone {
maximum 10;
reserved 5;
}
logical-system [ ACME WILEY ];
}
development-profile {
zone {
maximum 7;
reserved 0;
}
logical-system [ IT-design security ];
}
master-profile {
zone {
maximum 40;
resexrved 17;
}

root-logical-system;

Referring to the exhibit, what is the maximum number of zones that are able to be created within all logical systems?

A. 74
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B. 34
C. 40
D. 17

Correct Answer:

QUESTION 13

Click the Exhibit
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Referring to the exhibit, which three topologies are supported by Policy Enforcer? (Choose three.)

A. Topology 3
B. Topology 5
C. Topology 2
D. Topology 4
E. Topology 1

Correct Answer:

ADE

Reference: https://www.juniper.net/documentation/en_US/junos-spacel7.2/policy-enforcer/topics/concept/ policy-
enforcer-deployment-supported-topologies.html

QUESTION 14
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Exhibit.

Referring to the exhibit, a spoke member of an ADVPN is not functioning correctly. Which two commands will solve this
problem? (Choose two.)

A. [edit interfaces] user@srx# delete st0.0 multipoint

B. [edit security ike gateway advpn-gateway] user@srx# delete advpn partner

C. [edit security ike gateway advpn-gateway] user@srx# set version v1-only

D. [edit security ike gateway advpn-gateway] user@srx# set advpn suggester disable
Correct Answer: BD

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/security-auto-discovery-vpns.html

QUESTION 15
You have a webserver and a DNS server residing in the same internal DMZ subnet. The public Static NAT addresses
for the servers are in the same subnet as the SRX Series devices internet-facing interface. You implement DNS

doctoring to ensure remote users can access the webserver.

Which two statements are true in this scenario? (Choose two.)

Latest INO-635 Dumps | JNO-635 Practice Test | INO-635 Study Guide 9/10


https://www.certbus.com/jn0-635.html
https://www.certbus.com/jn0-635.html
https://www.certbus.com/jn0-635.html

www.CertBus.com https://lwww.certbus.com/jn0-635.html

CE RTBUS 2024 Latest certbus JN0-635 PDF and VCE dumps Download
A. The DNS doctoring ALG is not enabled by default.
B. The Proxy ARP feature must be configured.
C. The DNS doctoring ALG is enabled by default.

D. The DNS CNAME record is translated.

Correct Answer: BC
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